
92030 Veronica pos.chair 
 
 

 

10-92030-21 
Armrest left 

10-92030-20 
Armrest right 

10-92030-22 
Brass bolt 

M6x17 

10-92030-26 
Pair of legs 

rear 

10-92030-25 
Pair of legs 

front 

10-92030-31 
Brass bolt 
 M6x68 

10-92030-38 
Brass bolt 

M6x48 

10-92030-37 
Brass bolt  
 M6x23 


